Laparoscopic

Robotic

Risk Difference

Risk Difference

Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% Cl M-H, Fixed, 95% CI
10 0 68 0 55 0.5%  0.00[-0.03, 0.03]

11 0 80 0 38 0.4%  0.00[-0.04, 0.04]

12 477 9343 130 3116 35.0% 0.01 [0.00, 0.02]

13 0 102 0 102 0.8%  0.00[-0.02, 0.02]

15 0 84 0 21 0.3%  0.00[-0.06, 0.06]

19/1 45 4704 16 2352 23.5% 0.00[-0.00, 0.01]

19/2 48 6246 29 3123 31.2% -0.00[-0.01, 0.00]

2 50 3621 8 381 5.2% -0.01[-0.02, 0.01] 1

20 0 61 9 36 0.3% -0.25[-0.39, -0.11] —_—

3 1 100 0 45 0.5%  0.01[-0.03, 0.05] T

4 0 80 0 40 0.4%  0.00 [-0.04, 0.04] T

5 0 142 0 142 1.1% 0.00 [-0.01, 0.01]

6 0 40 0 48 0.3%  0.00 [-0.04, 0.04] T

7 0 15 0 7 0.1%  0.00[-0.19, 0.19] I e
8 0 92 0 70 0.6%  0.00[-0.02, 0.02] T
Total (95% CI) 24778 9576 100.0% 0.00 [-0.00, 0.01]

Total events 621 192

Heterogeneity: Chi? = 20.38, df = 14 (P = 0.12); I° = 31%

Test for overall effect: Z = 1.26 (P = 0.21)
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-0.5 0
Laparoscopic Robotic

Laparoscopic Robotic Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% ClI
1 §7.5 10.1 37 &G6.E 11 46 3.1%  0.70 [-3.85, 5.25]
140 72 115 &8 72 10.38 55 3.8%  0.00 [-3.87, 3.87] I —
11 641 155 B0 &2.3 157 38 2.0 1.80 [-4.24, 7.84] —
12 B4 5 9343 B4 5 3116 9.7%  0.00 [H0.20,0.20]
13 58 125 102 61 16.25 102 3.7% -2.00 [-5.985, 1.98] —
14 60.26 11.04 255 E0.36 11.33 205 6.7% -0.10 [-2.16, 1.98] T
15 65.6 136 B4 &2.1 118 21 2.1% 3.50 [-2.36, D.36] ]
16 06 7.7 97 SE.B 7.7 43 54X 11.80 [0.04, 14.58]
17 71 9.7 137 65 B17 38 4.9% £.00 [2.94, 9.08]
1871 73 063 3557 73 063 281 B.5X  0.00[-1.17,1.17] -
182 70 10.37 413 71 11.11 130 6.8% -1.00 [-3.02, 1.02] —T
18/3 69 12589 2BB& 69 11.B5 &ES B.B¥  0.00 [-1.00, 1.00] T
P4 73 B.BO 3621 73 B.B9 381 B.9X  0.00 [H).94, 0.94] T
0 67 10.37 &1 &2 10.37 36 3.4% 5.00 [0.73, 0.27]
21 746 138 2 T.E 8.9 20 1.4% 400 [-3.44, 11.44] —
4 71 333 B 60 34.07 44 0.5% 2.00 [-10.83, 14.83]
5 634 113 142 &3.2 2.4 142 7.1%  0.20 [-1.70, 2.10] —
§ G5 10 4 71 122 48 3.0% -3.00 [-7.64, 1.64] —
7 75 3 15 75.7 2.58 7 6.0% -0.70 [-3.13, 1.73] T
1] 68.2 B.67 35 &0.8 7 35 4.0% -1.40 [-5.09, 2.29] .
Total (95% CI) 21573 5469 100.0% 0.98 [0.01, 1.95] >

Hetzrogenetty: Tau® = 2.40; ChE = D6.86, df = 10 (P < 0.00001); B = 50X

d0 5 & &

Test for overall effect: Z = 1.99 (P = (.05} Laparoscopic Robotic 10
Laparoscopic Robotic Mean Difference Mean Difference

Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% ClI 1V, Random, 95% CI

1 67.5 10.1 37 66.8 11 46 3.1% 0.70 [-3.85, 5.25]

10 72 115 68 72 10.39 55 3.8% 0.00 [-3.87, 3.87] -1

11 64.1 15.5 80 62.3 15.7 38 2.0% 1.80 [-4.24, 7.84] e

12 84 5 9343 84 5 3116 9.7% 0.00 [-0.20, 0.20]

13 59 125 102 61 16.25 102 3.7% -2.00[-5.98, 1.98] —

14 60.26 11.04 255 60.36 11.33 205 6.7% -0.10[-2.16, 1.96] —_—

15 65.6 13.6 84 62.1 119 21 2.1% 3.50 [-2.36, 9.36] —

16 70.6 7.7 97 58.8 7.7 43 5.4% 11.80 [9.04, 14.56]

17 71 9.7 137 65 8.17 38 4.9% 6.00 [2.94, 9.06]

18/1 73 9.63 3557 73 9.63 281 8.5% 0.00[-1.17, 1.17] b

18/2 70 10.37 913 71 11.11 130 6.8% -1.00[-3.02, 1.02] e

18/3 69 12.59 2886 69 11.85 685 8.8% 0.00 [-1.00, 1.00] T

2 73 8.89 3621 73 8.89 381 8.9% 0.00 [-0.94, 0.94] -

20 67 10.37 61 62 10.37 36 3.4% 5.00[0.73, 9.27]

21 746 13.8 20 70.6 9.9 20 1.4% 4.00 [-3.44, 11.44]

4 71 333 80 69 34.07 40 0.5% 2.00[-10.83, 14.83]

5 63.4 11.3 142 63.2 2.4 142 7.1% 0.20 [-1.70, 2.10] b

6 68 10 40 71 122 48 3.0% -3.00[-7.64, 1.64] —

7 75 3 15 75.7 2.56 7 6.0% -0.70[-3.13,1.73] T

9 68.2 8.67 35 69.6 7 35 4.0% -1.40[-5.09, 2.29] ]

Total (95% Cl) 21573 5469 100.0% 0.98 [0.01, 1.95] <

Heterogeneity: Tau? = 2.49; Chi? = 96.86, df = 19 (P < 0.00001); I = 80% _35 5 é 130

Test for overall effect: Z = 1.99 (P = 0.05)

Laparoscopic Robotic



Laparoscopic Robotic Risk Difference Risk Difference
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CIl M-H, Fixed, 95% CI
1 3 37 0 46 0.4%  0.08[-0.02, 0.18] T
10 4 68 2 55 0.6%  0.02[-0.05, 0.10] —
11 2 80 0 38 0.5%  0.03[-0.03, 0.08] B
13 0 102 0 102 0.9%  0.00[-0.02, 0.02] b
14 8 255 6 205 2.1%  0.00[-0.03, 0.03] e
17 6 137 1 38 0.5%  0.02 [-0.04, 0.08] S B —
18/1 280 7821 7 281 5.0%  0.01[-0.01, 0.03] ™
18/2 4 1663 6 130 2.2% -0.04 [-0.08, -0.01] e
18/3 218 4869 29 685 11.0% 0.00[-0.01, 0.02] -+
19/1 87 4704 44 2352 28.8% -0.00[-0.01, 0.01] I
19/2 113 6246 65 3123 38.2% -0.00[-0.01, 0.00]
2 92 3621 11 381 6.3% -0.00[-0.02, 0.01] -
20 2 61 0 36 0.4%  0.03[-0.03, 0.09] ]
4 0 80 1 40 0.5% -0.03[-0.08, 0.03] .
5 0 142 0 142 1.3% 0.00 [-0.01, 0.01] 1T
6 0 40 0 48 0.4%  0.00 [-0.04, 0.04] I —
7 0 15 0 7 0.1%  0.00 [-0.19, 0.19]
8 1 92 0 70 0.7%  0.01[-0.02, 0.04] T
Total (95% CI) 30033 7779 100.0% -0.00 [-0.00, 0.00] [
Total events 820 172
Heterogeneity: Chi? = 14.36, df = 17 (P = 0.64); 1> = 0% t t t t
Test fo? overZII effect: Z=0.34 (P = 0(.73) ) -0.2 -0.1 : 0 : 01 0.2
Laparoscopic Robotic
Laparoscopic Robotic Risk Difference Risk Difference
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
1 3 37 0 46 04X 008 [-0.02,0.18] b
19 4 &8 2 55 0.6 0.02 [H0.05,0.10] I
11 3 B0 0 38 0.5%  0.03 [0.03, 0.08] T
13 0 102 0 12 0.9% 0.00[0.02,0.02] I
14 B 255 & 205 21X 0.00 [H0.03, 0.03] T
17 L] 137 1 I 05X 0.02 [-0.04,0.08] -
18/1 280 7B21 7 2Bl 50X  0.01 [H0.01, 0.03] ™
1642 4 1663 & 13 2.2X% -0.04 .08, 0.01] -
18/3 Z1R  4BED 29 6683 110  0.00 [-0.01, 0.02] nE
1871 B? 4704 44 2352 28.8X% -0.00 [-0.01, 0.01] »
1852 113 G244 &5 3123 38.2% -0.00 [-0.01, 0.00] L
2 82 3621 11 381 &3 -0.00 [-0.02, 0.01] -T
) 2 &1 0 3 04X 0.03 [-0.03,0.09] N E—
4 )] B0 1 40 0.5% -0.03 [40.0F, 0.03] — 1
5 0 142 0 14z 1.3%  0.00 [-0.01, 0.01] T
& 0 40 0 48 04X  0.00 [0.04,0.04] I —
7 0 15 0 ¥ 01X 000 [-0.19,0.19]
B 1 92 0 70 0.7% 001 [-0.02,0.04] T
Total (95% CI) 30033 7779 100.0% -0.00 [-0.00, 0.00] 4
Total events B20 172
Hetzrogenelty: Chit = 14 .36, df = 17 (P = .64); K = 0X ! I } f
Test for overall effect: Z = .34 (P = .73} 02 La;?\.r})scopic“Roboti?.l 02
Laparoscopic Robotic Risk Difference Risk Difference
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
1 3 37 0 46 0.4%  0.08[-0.02, 0.18] T
10 4 68 2 55 0.6%  0.02[-0.05, 0.10] —
11 2 80 0 38 0.5%  0.03[-0.03, 0.08] B
13 0 102 0 102 0.9%  0.00[-0.02, 0.02] b
14 8 255 6 205 2.1%  0.00[-0.03, 0.03] e
17 6 137 1 38 0.5%  0.02 [-0.04, 0.08] S B —
18/1 280 7821 7 281 5.0%  0.01[-0.01, 0.03] ™
18/2 4 1663 6 130 2.2% -0.04 [-0.08, -0.01] e
18/3 218 4869 29 685 11.0% 0.00[-0.01, 0.02] -+
19/1 87 4704 44 2352 28.8% -0.00[-0.01, 0.01] I
19/2 113 6246 65 3123 38.2% -0.00[-0.01, 0.00]
2 92 3621 11 381 6.3% -0.00[-0.02, 0.01] -
20 2 61 0 36 0.4%  0.03[-0.03, 0.09] ]
4 0 80 1 40 0.5% -0.03[-0.08, 0.03] .
5 0 142 0 142 1.3% 0.00 [-0.01, 0.01] 1T
6 0 40 0 48 0.4%  0.00 [-0.04, 0.04] I —
7 0 15 0 7 0.1%  0.00 [-0.19, 0.19]
8 1 92 0 70 0.7%  0.01[-0.02, 0.04] T
Total (95% CI) 30033 7779 100.0% -0.00 [-0.00, 0.00] [
Total events 820 172
ity 2 _ _ _ 12 — 09 ' } } }
Heterogeneity: Chi’* = 14.36, df = 17 (P = 0.64); I° = 0% a2 01 ) o o>

Test for overall effect: Z = 0.34 (P = 0.73)

Laparoscopic Robotic



Laparoscopic Robotic Odds Ratio Odds Ratio
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
1 17 37 20 46 0.4% 1.10 [0.46, 2.64] I
10 21 68 14 55 0.5% 1.31[0.59, 2.90] I
11 25 80 9 38 0.4% 1.46 [0.60, 3.55] B B —
13 0 102 2 102 0.1% 0.20[0.01, 4.14] +
14 24 255 26 205  1.1%  0.72[0.40, 1.29] —
15 8 84 1 21 0.1% 2.11[0.25, 17.83]
16 36 97 2 43 0.1% 12.10[2.76, 53.03]
17 33 137 6 38 0.3% 1.69 [0.65, 4.40] ]
18/1 2904 7821 92 281 4.9% 1.21 [0.94, 1.56]
18/2 514 1633 41 130 2.3% 1.00 [0.68, 1.46] 1
18/3 1285 4869 156 685 8.8% 1.22 [1.01, 1.47] ™
19/1 3106 4704 1555 2352 30.6% 1.00[0.90, 1.11] :
19/2 3867 6246 1933 3123 42.7% 1.00[0.92, 1.09]
2 916 3621 97 381 5.7% 0.99 [0.78, 1.26] T
20 4 61 3 36 0.2% 0.77 [0.16, 3.66]
21 6 20 7 20 0.2% 0.80[0.21, 3.00] —
3 2 100 2 45 0.1% 0.44 [0.06, 3.22]
4 24 80 7 40 0.3% 2.02[0.78, 5.20] 1
6 13 40 11 48 0.3% 1.62 [0.63, 4.16] ]
8 50 92 46 70 1.0% 0.62 [0.33, 1.18] T
9 8 35 3 35 0.1% 3.16 [0.76, 13.11] T
Total (95% CI) 30182 7794 100.0% 1.04 [0.98, 1.10]
Total events 12863 4033
Heterogeneity: Chi? = 29.81, df = 20 (P = 0.07); I> = 33% I t t {
Test for overall effect: Z = 1.34 (P = 0.18) O.OlFavoursO[éiperimental] Favours [conlt(r)ol] 100
Laparoscopic Robotic Odds Ratio Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
1 10 37 10 46 0.5% 1.33 [0.49, 3.66] —
10 23 68 17 55 1.0% 1.14 [0.53, 2.45] e
11 23 80 13 38 1.1% 0.78 [0.34, 1.77] e
13 18 102 19 102 1.3% 0.94 [0.46, 1.91] i
14 59 255 54 205 3.9% 0.84 [0.55, 1.29] -
15 6 84 1 21 0.1% 1.54[0.18, 13.52]
16 24 97 7 43 0.6% 1.69[0.67, 4.29] T
17 41 137 10 38 0.9% 1.20 [0.53, 2.69] B
19/1 779 4704 375 2352  35.0% 1.05[0.91, 1.20] t
19/2 870 6246 398 3123 38.3% 1.11[0.98, 1.26]
2 760 3621 102 381 12.2% 0.73[0.57, 0.92] -
20 14 61 6 36 0.5% 1.49[0.52, 4.30] e e —
21 5 20 9 20 0.6% 0.41[0.11, 1.56] —
4 14 80 6 40 0.6% 1.20[0.42, 3.41] S L—
5 23 142 22 142 1.5% 1.05 [0.56, 1.99] -
6 30 40 35 48 0.7% 1.11[0.43, 2.90] B
7 1 15 1 7 0.1% 0.43 [0.02, 8.04]
8 18 92 8 70 0.6% 1.89[0.77, 4.63] I e —
9 9 35 8 35 0.5% 1.17[0.39, 3.49] e
Total (95% CI) 15916 6802 100.0% 1.03 [0.95, 1.12]
Total events 2727 1101

. 2 _ _ 12 — 0o I 1 1 |
Heterogeneity: Chi® = 17.01, df = 18 (P = 0.52); I° = 0% o1 ol H 100

Test for overall effect: Z = 0.78 (P = 0.44)

Laparoscopic Robotic



Laparoscopic

Robotic

Odds Ratio

Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% Cl M-H, Fixed, 95% CI

6 0 40 0 48 Not estimable

7 0 15 0 7 Not estimable

8 0 92 0 70 Not estimable

3 0 100 0 45 Not estimable

1 5 37 0 46 0.1% 15.74[0.84, 294.61] >
5 6 142 0 142 0.1% 13.57[0.76, 243.22] >
11 6 80 0 38 0.1% 6.72[0.37, 122.42] >
4 4 80 0 40 0.1% 4.76 [0.25, 90.71]

16 2 97 0 43 0.2% 2.28[0.11, 48.45]

17 5 137 0 38 0.2% 3.20[0.17, 59.10]

15 1 84 0 21 0.2% 0.77 [0.03, 19.64]

13 4 102 1 102 0.2% 4.12 [0.45, 37.54]

20 0 61 1 36 0.4% 0.19[0.01, 4.85] +

9 29 35 28 35 1.1% 1.21[0.36, 4.04] B —

10 3 68 5 55 1.2% 0.46 [0.11, 2.02] —

18/2 229 1663 11 130 4.0% 1.73[0.92, 3.25] —

18/1 868 7821 14 281 5.5% 2.38[1.38, 4.09] I

18/3 398 4869 16 685 5.8% 3.72 [2.24, 6.18] —_—

2 373 3621 26 381 9.6% 1.57 [1.04, 2.37] —

19/1 399 4704 97 2352 26.8% 2.15[1.72,2.71] -

19/2 551 6246 161 3123 44.4% 1.78 [1.49, 2.13] | 3

Total (95% CI) 30094 7718 100.0% 2.02 [1.79, 2.28] [

Total events 2883 360

Heterogeneity: Chi? = 21.76, df = 16 (P = 0.15); I> = 26%

t
0.1

0.01 10 100
Test for overall effect: Z = 11.41 (P < 0.00001) Laparoscopic Robotic
Laparoscopic Robotic Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI
11 13.9 12.9 80 16.4 10.3 38 13.6% -2.50[-6.83,1.83] =
15 9.2 6.7 84 6.5 6.1 21 16.2% 2.70[-0.28, 5.68] il
16 113 7.3 97 1.8 6.2 43 17.3% 9.50 [7.15, 11.85] -
20 3.7 1.93 61 4 3.26 36 19.0% -0.30[-1.47,0.87] L
4 5 0.5 80 5.5 2.96 40 19.2% -0.50[-1.42,0.42] L
6 15.1 8.4 40 15.6 9.7 48 14.6% -0.50[-4.28, 3.28] -
Total (95% ClI) 442 226 100.0% 1.52 [-1.35, 4.38] >
TN 2 . i2 12 } } } 4
Heterogeneity: Tau = 10.88; Chi* = 66.61, df = 5 (P < 0.00001); I = 92% oo 5 3 50 100
Test for overall effect: Z = 1.04 (P = 0.30) Laparoscopic Robotic
Laparoscopic Robotic Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI
3 8 5.93 100 7 5.19 45 1.6% 1.00 [-0.91, 2.91] —
15 9.3 6.5 84 83 1.7 21 2.2% 1.00 [-0.57, 2.57] 7
4 5 3.71 100 6 4.45 40 2.2% -1.00[-2.56, 0.56] —
17 9 2.96 137 7 4.44 38 2.3% 2.00 [0.50, 3.50]
21 7.8 3 20 72 16 20 2.3%  0.60[-0.89, 2.09] —
7 7.67 1.23 15 7.71 1.79 7 2.4% -0.04[-1.50, 1.42] I —
11 7.9 4 80 7.2 3.1 38 2.7% 0.70 [-0.62, 2.02] 7
6 7.4 3.17 40 7.8 2.67 48 2.9% -0.40 [-1.64, 0.84] e —
8 8.7 4.8 92 7.7 3.1 70 3.0% 1.00 [-0.22, 2.22] T
13 8.7 3 102 8.7 4.4 102 3.6% 0.00 [-1.03, 1.03] [ E—
5 9 4.7 142 8.7 34 142 3.9% 0.30 [-0.65, 1.25] e
16 8.6 3.5 97 7.7 2 43 4.0% 0.90 [-0.02, 1.82]
20 9 2.22 61 9 2.22 36 4.0% 0.00 [-0.91, 0.91] s —
10 7 3.33 68 6 1.48 55 4.2% 1.00 [0.12, 1.88] e
1 7 1.48 37 6 1.48 46 5.2% 1.00 [0.36, 1.64] -
14 9.14 3.08 255 9.23 3.37 205 5.4% -0.09[-0.69, 0.51] —r
18/2 4 296 1663 5 2.96 130 5.7% -1.00 [-1.53, -0.47] —_—
18/1 4 296 7821 4 2.22 281 6.8%  0.00[-0.27,0.27] T
12 6.4 5.1 9343 5.9 6 3116 6.9% 0.50[0.27, 0.73] -
19/1 4.7 3.8 4704 4 3.4 2352 7.1% 0.70[0.52, 0.88]
19/2 46 3.8 6246 3 3.5 3123 7.1% 1.60[1.45, 1.75] -
18/3 4 1.48 4869 4 1.48 685 7.2% 0.00 [-0.12, 0.12] T
9 8.7 0.1 25 83 0.1 25 7.2% 0.40 [0.34, 0.46] -
Total (95% Cl) 36101 10668 100.0% 0.42 [0.14, 0.69] ‘
Heterogeneity: Tau? = 0.27; Chi? = 340.09, df = 22 (P < 0.00001); I> = 94% ") _=2 3 2 j‘

Test for overall effect: Z = 2.97 (P = 0.003)

Laparoscopic Robotic



Laparoscopic

Robotic

Mean Difference

Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI
1 7 1.48 37 6 1.48 46 5.2% 1.00 [0.36, 1.64]

10 7 3.33 68 6 1.48 55 4.2% 1.00 [0.12, 1.88]

11 7.9 4 80 7.2 3.1 38 2.7%  0.70[-0.62, 2.02] e
12 6.4 5.1 9343 5.9 6 3116 6.9% 0.50[0.27, 0.73] -

13 8.7 3 102 8.7 4.4 102 3.6%  0.00[-1.03, 1.03] S

14 9.14 3.08 255 9.23 3.37 205 5.4% -0.09 [-0.69, 0.51] T

15 9.3 6.5 84 83 1.7 21 2.2%  1.00[-0.57, 2.57] —

16 8.6 3.5 97 7.7 2 43 4.0%  0.90[-0.02, 1.82] —
17 9 2.96 137 7 4.44 38 2.3% 2.00 [0.50, 3.50] D —
18/1 4 296 7821 4 222 281 6.8%  0.00[-0.27, 0.27] -

18/2 4 296 1663 5 2.96 130 5.7% -1.00 [-1.53, -0.47] —_—

18/3 4 1.48 4869 4 1.48 685 7.2%  0.00[-0.12, 0.12] T

19/1 4.7 3.8 4704 4 3.4 2352 7.1% 0.70[0.52, 0.88] -

19/2 46 3.8 6246 3 3.5 3123 7.1% 1.60 [1.45, 1.75] -
20 9 2.22 61 9 2.22 36 4.0%  0.00[-0.91, 0.91] .

21 7.8 3 20 7.2 16 20 2.3%  0.60[-0.89, 2.09] T
3 8 5.93 100 7 5.19 45 1.6%  1.00[-0.91, 2.91] —

4 5 3.71 100 6 4.45 40 2.2% -1.00 [-2.56, 0.56] e —

5 9 4.7 142 8.7 3.4 142 3.9%  0.30[-0.65, 1.25] i

6 7.4 3.17 40 7.8 2.67 48 2.9% -0.40[-1.64, 0.84] e

7 7.67 1.23 15 7.71 1.79 7 2.4% -0.04 [-1.50, 1.42] I E—

8 8.7 4.8 92 7.7 3.1 70 3.0%  1.00[-0.22, 2.22] T
9 8.7 0.1 25 8.3 0.1 25 7.2% 0.40 [0.34, 0.46] -

Total (95% ClI) 36101 10668 100.0% 0.42 [0.14, 0.69] <&

Heterogeneity: Tau? = 0.27; Chi? = 340.09, df = 22 (P < 0.00001); I> = 94%

-4 -2 0 2

PN

Test for overall effect: Z = 2.97 (P = 0.003) Laparoscopic Robotic
Laparoscopic Robotic Mean Difference Mean Difference

Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI

9 15.4 0 35 15.8 0 35 Not estimable

17 29 0 137 32 0 38 Not estimable

4 18 33.33 80 29 30.37 40 0.3% -11.00[-22.91, 0.91] +

11 39.1 17.8 80 46.1 22.2 38 0.6% -7.00[-15.06, 1.06] *

21 19.8 8.8 20 19.5 11.6 20 0.9% 0.30 [-6.08, 6.68]

7 17.6  6.79 14 17.42 4.54 7 1.4% 0.18 [-4.72, 5.08] —

15 21.3 9.5 84 213 10.3 21 1.4% 0.00 [-4.85, 4.85]

10 27 11.48 68 27 14.81 55 1.5% 0.00 [-4.77, 4.77]

6 25.6 10.4 40 22.8 11.5 48 1.6% 2.80[-1.78, 7.38] —

16 23.4 10.7 97 22.1 10.5 43 2.2% 1.30 [-2.49, 5.09] I

20 18 7.41 61 15 9.63 36 2.3% 3.00 [-0.65, 6.65] N

1 20 8.15 37 24  6.67 46 2.7% -4.00[-7.26, -0.74] —

13 12.1 5.9 102 15.7 8.3 102 5.1% -3.60[-5.58, -1.62] —_—

8 14 6 92 14 4.8 70 6.0% 0.00 [-1.66, 1.66] I

2 28.7 12.6 3621 32.3 14.1 381 6.6% -3.60[-5.07,-2.13] —_—

3 15  4.44 100 14 3.7 45 6.9% 1.00 [-0.39, 2.39] T

18/2 17 8.15 1633 16 6.67 130 7.5% 1.00 [-0.21, 2.21] T

5 20.5 6.1 142 20.4 3.8 142 7.6% 0.10[-1.08, 1.28] -1

18/1 21 9.63 7821 23 9.63 281 7.7% -2.00[-3.15, -0.85] I

14 14.33 5.23 255 14.37 4.64 205 8.6% -0.04 [-0.94, 0.86] T

18/3 17 8.15 4869 17 7.41 685 9.5% 0.00 [-0.60, 0.60] -

19/1 22.57 10 4704 23.84 11 2352 9.7% -1.27 [-1.80, -0.74] -

19/2 21.03 10 6246 21.7 11 3123 9.9% -0.67[-1.13,-0.21] -

Total (95% CI) 30338 7943 100.0% -0.65[-1.28,-0.02] &

Heterogeneity: Tau? = 0.99; Chi? = 72.21, df = 20 (P < 0.00001); I* = 72% :_10 _:5 5 é 10:

Test for overall effect: Z = 2.03 (P = 0.04)

Laparoscopic Robotic



Laparoscopic

Robotic

Odds Ratio

Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% Cl M-H, Fixed, 95% CI
1 2 37 0 46 0.1% 6.55[0.30, 140.75] >
10 4 68 3 55 0.6% 1.08 [0.23, 5.06] —
11 0 80 2 38 0.7% 0.09 [0.00, 1.94] +
13 4 102 4 102 0.8% 1.00 [0.24, 4.11] . E—
14 17 255 13 205 2.6% 1.05 [0.50, 2.23] .
17 18 137 3 38 0.8% 1.76 [0.49, 6.34] ]
19/1 296 4704 154 2352 37.7% 0.96 [0.78, 1.17] I
19/2 358 6246 173 3123 42.6% 1.04 [0.86, 1.25]
2 312 3621 35 381 11.3% 0.93 [0.65, 1.34] -
20 3 61 0 36 0.1% 4.37[0.22, 87.02]
21 0 20 1 20 0.3% 0.32[0.01, 8.26]
3 1 100 0 45 0.1% 1.37[0.05, 34.33]
4 4 80 2 40 0.5% 1.00[0.18, 5.71]
5 2 142 3 142 0.6% 0.66 [0.11, 4.02] —
6 2 40 3 48 0.5% 0.79[0.13, 4.97]
7 0 15 0 7 Not estimable
8 1 92 0 70 0.1% 2.31[0.09, 57.60]
9 4 35 3 35 0.5% 1.38 [0.28, 6.66] E—
Total (95% Cl) 15835 6783 100.0% 1.00 [0.89, 1.13] ¢
Total events 1028 399
Heterogeneity: Chi? = 7.18, df = 16 (P = 0.97); 1> = 0% I t } {
Tezt fz?ZerZIIiffect: z =8EJ.dO3 (P i (0.98;) o o 0.01 0.1 ; 10 100
Laparoscopic Robotic
Laparoscopic Robotic Risk Difference Risk Difference
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% Cl M-H, Fixed, 95% CI
11 0 80 1 38 3.3% -0.03[-0.09, 0.04] -
13 0 102 0 102 6.6% 0.00[-0.02, 0.02] T
14 0 255 0 205 14.6% 0.00[-0.01, 0.01]
16 0 97 0 43 3.8% 0.00[-0.03, 0.03] T
17 0 137 1 38 3.8% -0.03[-0.09, 0.03] -
2 322 3621 33 381 44.4% 0.00[-0.03,0.03] [ ]
4 0 80 1 40 3.4% -0.03[-0.08, 0.03] -
5 0 142 0 142 9.1% 0.00[-0.01, 0.01]
6 0 40 0 48 2.8% 0.00[-0.04, 0.04] T
7 0 15 0 7 0.6%  0.00[-0.19, 0.19] — T
8 0 92 0 70 5.1% 0.00[-0.02, 0.02] T
9 0 35 0 35 2.3% 0.00 [-0.05, 0.05] T
Total (95% CI) 4696 1149 100.0% -0.00 [-0.02, 0.01]
Total events 322 36
Heterogeneity: Chi® = 2.14, df = 11 (P = 1.00); I> = 0% t t t {
Test for overall effect: Z = 0.24 (P = 0.81) -1 -0-5 0 05 !
) ) ’ Laparoscopic Robotic
Laparoscopic Robotic Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight 1V, Fixed, 95% CI 1V, Fixed, 95% CI
11 25.9 12.2 80 22.7 16.8 38 3.5% 3.20[-2.77,9.17]
16 113 7.3 97 10.8 6.2 43 22.2% 0.50[-1.85, 2.85]
20 6.2 3.63 61 6.5 3.11 36 66.2% -0.30[-1.66, 1.06]
6 14 9.5 40 12.4 9 48 8.1% 1.60[-2.29, 5.49]
Total (95% CI) 278 165 100.0% 0.15[-0.96, 1.26]
. 2 AT I 1 1 |
Heterogeneity: Chi* = 2.04, df = 3 (P = 0.56); I> = 0% oo 5 ) =0 100

Test for overall effect: Z = 0.27 (P = 0.79)

Laparoscopic Robotic



Laparoscopic Robotic Odds Ratio Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Random, 95% Cl M-H, Random, 95% CI

1 23 iz Fi] 4§ 1.7% 1.26 [0.52, 3.06] I—

10 a0 &8 k¥ 55 2.3% 1.03 [0.50, 2.11] R

11 47 BO 27 38 1.8% .56 [0.25, 1.33] I

12 3857 9343 1314 3116 11.0% 1.01 [0.93, 1.09] T

13 66 102 71 102 3.2 0.80 [0.45, 1.44] —_—

14 il 255 123 205 5.3% 0.25 [0.17,0.37] -

15 43 .2 a 21 1.a% 1.40 [0.53, 3.67] -

16 &3 o7 12 43 2.0% 4.79 [2.18, 10.51] _

17 B2 137 Fill 38 2.3% 1.34 [0.65, 2.76] -1

18/1 3557 7HE21 136 K1 B.1% 0.89 [0.70, 1.13] T

1B/2 813 1633 kL) 130 5.8% 1.00 [0.76, 1.58] -1

18/3 2EBE 4869 405 G685 D.6X 1.01 [0.88, 1.18] -

1871 2187 4704 1106 2352 10.BX 0.98 [0.89, 1.08] -

1872 3266 G246 1633 3123 11.0% 1.00 [0.92, 1.00] -+

4 1621 3621 1B 351 B.6% 0.86 [0.70, 1.08] T

) 38 &1 17 36 1.8% 1.85 [0.80, 4.25] —

21 13 2 14 0 0.BX 0.80 [0.21, 3.00]

3 41 100 19 45 24X 0.95 [0.47, 1.94] _—

4 3z B0 18 40 2.1% 0.95 [0.44, 2.03] I B

5 70 142 74 142 4.3% 1.15 [0.72, 1.84] —

& 2B 40 27 18 1.7% 1.E1 [0.75, 4.40] —

7 B 15 4 7 04X 0.56 [0.14, 5.23]

8 20 35 23 35 1.4% 0.70 [0.28, 1.K3] —

Total (95% CI) 39590 10989 100.0% 0.96 [0.85, 1.08]

Total events 19085 5366

Heterogenehy: Tauw® = 0.03; ChF = 73.59, df = 22 (P < 0.00001); F = 70X b 1 0:2 0:5 i 3 5 10:

Test for overall effect: Z = 0.70 (P = 0.48) Favours [experimental] Favours [control]
Laparoscopic Robotic Odds Ratio Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI

1 23 37 26 46 1.7% 1.26 [0.52, 3.06]

10 40 68 32 55 2.3% 1.03 [0.50, 2.11] e —

11 47 80 27 38 1.8% 0.58 [0.25, 1.33] L — —

12 3957 9343 1314 3116 11.0% 1.01[0.93, 1.09] T

13 66 102 71 102 3.2% 0.80 [0.45, 1.44] . E—

14 70 255 123 205 5.3% 0.25[0.17, 0.37] e

15 43 84 9 21 1.4% 1.40 [0.53, 3.67] —

16 63 97 12 43 2.0% 4.79[2.18, 10.51] —_—

17 82 137 20 38 2.3% 1.34[0.65, 2.76] I B —

18/1 3557 7821 136 281 8.1% 0.89 [0.70, 1.13] —T

18/2 913 1633 70 130 5.8% 1.09 [0.76, 1.56] -

18/3 2886 4869 405 685 9.6% 1.01[0.86, 1.18] -1

19/1 2187 4704 1106 2352 10.8% 0.98 [0.89, 1.08] e

19/2 3266 6246 1633 3123 11.0% 1.00 [0.92, 1.09] T

2 1621 3621 185 381 8.6% 0.86 [0.70, 1.06] T

20 38 61 17 36 1.8% 1.85 [0.80, 4.25] —

21 13 20 14 20 0.8% 0.80[0.21, 3.00]

3 41 100 19 45 2.4% 0.95[0.47, 1.94] . E—

4 37 80 19 40 2.1% 0.95 [0.44, 2.03] —_—T

5 79 142 74 142 4.3% 1.15[0.72, 1.84] T

6 28 40 27 48 1.7% 1.81[0.75, 4.40] —

7 8 15 4 7 0.4% 0.86 [0.14, 5.23]

9 20 35 23 35 1.4% 0.70 [0.26, 1.83] e

Total (95% CI) 39590 10989 100.0% 0.96 [0.85, 1.08]

Total events 19085 5366 7

Heterogeneity: Tau? = 0.03; Chi? = 73.59, df = 22 (P < 0.00001); I*> = 70% I t

t t 1 }
S _ 0.1 0.2 0.5 1 2 5 10
Test for overall effect: Z = 0.70 (P = 0.48) Favours [experimental] Favours [control]

Laparoscopic Robotic Mean Difference Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
11 44.3 16.9 80 47.4 23.1 38 13.8% -3.10[-11.33,5.13] -
21 27.4 10 20 266 9.1 20 18.9% 0.80[-5.13, 6.73] .
4 26 8.74 80 32.2 6.67 40 27.5% -6.20[-9.02, -3.38] =
6 33.7 9.7 40 319 8.7 48 24.6% 1.80 [-2.09, 5.69] -
7 23.07 8.46 14 23.71 8.13 7 15.3% -0.64[-8.12, 6.84] e
Total (95% ClI) 234 153 100.0% -1.64 [-5.69, 2.42] 4

(o, 2 _ . 2 _ — — L2 = 0, [} 4 + |
Heterogeneity: Tau? = 13.50; Chi* = 12.72, df = 4 (P = 0.01); I = 69% oo 5 ) =0 100

Test for overall effect: Z = 0.79 (P = 0.43) Laparoscopic Robotic



Laparoscopic

Robotic

Odds Ratio

Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI

1 12 37 26 46 1.1% 0.37[0.15, 0.91] -

10 23 68 11 55 0.6% 2.04[0.89, 4.69] T

11 33 80 18 38 1.0% 0.78[0.36, 1.70] T

12 2894 9343 954 3116 70.7% 1.02 [0.93, 1.11] [ |

13 35 102 37 102 1.7% 0.92[0.52, 1.63] — T

14 87 255 67 205 3.5% 1.07 [0.72, 1.58] T

16 37 97 20 43 1.2% 0.71[0.34, 1.47] — T

17 55 137 15 38 1.0% 1.03 [0.49, 2.14] T

2 1342 3621 142 381 11.6% 0.99 [0.80, 1.23] -+

20 25 61 10 36 0.5% 1.81[0.74, 4.40] I

3 48 100 23 45 1.2% 0.88[0.44, 1.79] T

4 34 80 15 40 0.8% 1.23[0.57, 2.68] T

5 54 142 55 142 2.4% 0.97 [0.60, 1.57] i

6 15 40 12 48 0.5% 1.80[0.72, 4.49] T

7 3 15 1 7 0.1% 1.501[0.13, 17.67]

8 33 92 31 70 1.6% 0.70[0.37, 1.33] I

9 7 35 6 35 0.3% 1.21 [0.36, 4.04] e

Total (95% ClI) 14305 4447 100.0% 1.01 [0.94, 1.09]

Total events 4737 1443

Heterogeneity: Chi® = 14.14, df = 16 (P = 0.59); I = 0% I } t |

Test for overall effect: Z = 0.25 (P = 0.80) 0.01 I?eiéaroscopic Robotic 10 100
Laparoscopic Robotic Mean Difference Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% ClI IV, Random, 95% CI

1 7 1.48 iz & 1.48 46 5.2% 1.00 [0.36, 1.64] D

10 7 333 &8 6 1.48 55 a4.2% 1.00 [0.12, 1.88]

11 7.8 4 B 72 31 I8 2.7% 0.70 [-0.62, 2.02] ]

12 64 51 90343 5.0 & 3116 6.9% 0.50 [0.27, 0.73] -

13 B.7 3 0z E7 44 102 3.6% 0.00[-1.03, 1.03]  E—

14 0.14 308 255 023 3137 205 5.4% -0.09 [H0.69, 0.51] b

15 9.3 &5 B4 B3 1.7 21 2.2% 1.00 [-0.57, 2.57] —

16 BE& 3.5 a9y 1.7 2 43 4.0% 0.90 [0.02, 1.82] —

17 9 206 137 7 4.44 38 23X 2.00 [0.50, 3.50]

1B£1 4 206 7821 4 222 281 G.BX  0.00[-0.27,0.27] +

162 4 286 1663 5 2.96 130 5.7% -1.00 [-1.53, -0.47] —_—

18/3 4 148 AEED 4 1.48 685 7.2%  0.00[-0.12,0.12] +

191 47 38 ar0a 4 3.4 2352 71X 0.70 [0.52, 0.88] -

1972 46 3B 6246 3 35 3123 7.1% 1.60 [1.45, 1.75] -

il o 222 &1 9 222 36 40%  0.00 [-0.91,0.91] 1

21 7.8 3 w72 14 20 2.3%  0.60 [-0.89, 2.09] B

3 B 5.93 100 7 518 15 1.6% 100 [-0.91, 2.91] —

4 5 3N 100 6 4.45 40 2.2% -1.00 [-2.58, 0.58] —

5 9 a7 142 K7 34 142 3.8%  0.30 [-0.65,1.25] -1

& 74 3.17 40 7.8 2.67 18 2.9% —0.40 [-1.64, 0.84] —_—

7 767 1.23 15 771 1.79 7 24X -0.04[-1.50,1.42] s

] B.7 4.8 g 77 31 70 308 1.00[-0.22, 2.22] B

8 g7 01 25 B3 01 25 7.2% 0.40 [0.34, 0.46] -

Total (95% CI) 36101 10668 100.0% 0.42 [0.14, 0.69] &

Herogenehty: Taw® = 0.27; ChE = 340.00, df = 22 (P < 0.00001); F = 04X —Ih ) 2

Test for overall effect Z = 2.07 (P = 0.003)

Laparoscopic Robotic



Laparoscopic

Robotic

Mean Difference

Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
1 20 E15 37 24 E.67 46 2.7%  -4.00 [-7.26, -).74]

10 27 11.48 13 27 1481 55 1.5% 0.00 [-4.77,4.77]

11 301 178 B0 461 222 3B 0.6% -7.00 [-15.06, 1.08] ¢

13 1z.1 5.9 10z 15.7 B3 102 5.1% -3.60 [-5.58, -1.62] —

14 14.33 5.23 255 14.37 4864 205 B.E6X  =0.04 [-0.94, (.E6] -
15 21.3 4.5 B4 213 103 21 1.4% 0.00 [-4.B5, 4.B5]

16 234 10.7 a7 21 105 43 2.2% 1.30 [-2.49, 5.00] —

17 29 0 137 3z 0 38 Not estimable

1B8/1 21 963 7B21 23 D63 281 7.7%  -2.00 [-3.15, 0.85] —_—

162 17 K15 1633 16§ &67 130 7.5% 1.00 [-0.21, 2.21] T—
163 17 K15 4869 17 741 &BS 9.5% 0.00 [-0.60, 0.60] T
1811 22.57 10 4704 23.K4 11 2352 0.7%  -1.27 [-1.80, -0.74] -

1072 21.03 10 &246 21.7 11 3123 9.9% -0.67[-1.13,-0.21] -

2 28.7 126 3621 323 141 381 6.6% -31.60[-5.07, -2.13] e

20 18 7.4l &1 15 5.63 36 2.3% 3.00 [-0.65, 6.65]

21 10.8 B.B 0 195 11& 20 0.9x 0.30 [-5.0K, 6.6E8]

3 15 444 100 14 3.7 a5 &0 1.00 [-0.39, 2.38] T
4 18 33.33 B0 29 30.37 44 0.3% -11.00 [-22.91, 0.91] +

5 0.5 6.1 14z 20.4 I8 1a2 7.6% 0.10 [-1.08, 1.28] -
& 256 10.4 40 228 115 48 1.6% 2.80 [-1.78, 7.38] B

7 176 &.79 14 17.42 454 7 1.4% 0.18 [-4.72, 5.08]

] 14 & az 14 4.8 Fi] 6.0% 0.00 [-1.66, 1.66] -
9 15.4 0 35 15K 0 35 Not estimable

Total (95% CI) 30338 7943 100.0% -0.65 [-1.28, -0.02] ‘

Heterogenehy: Taw® = 0.99; ChE = 72.21, df = 20 {P < 0.00001); F = 72%

Test for overall effect Z = 2.03 (P = 0.04}
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Robotic
SD Total Weight

Laparoscopic
Study or Subgroup Mean SD Total Mean

Std. Mean Difference
IV, Random, 95% CI

Std. Mean Difference
IV, Random, 95% CI

1 150 ] 37 262 16.5 45 4.1%
7 104.2 12.03 15 142,22 22.05 7 4.4%
20 155 14.17 &1 232 13.83 36  4.9%
17 238 483 137 195 B.67 k1] 4.0%
10 142 9.25 1] 198 11.83 55 5.0%
21 1659 30.2 20 2252 73 20 5.2%
] 179 25 35 za3 40 35 5.3%
15 208 53 B4 185 48 21 5.4%
11 150.3 5&.1 BO 325 123.2 k13 5.4%
4 130 31.67 BO 1B) 2B.67 40 5.4%
& 254.2 48 40 285.0 52 48 5.4%
16 2041 41.7 897 2328 L] 43 5.5%
3 150 37.04 100 155 37.04 45 5.5%
B 1B6.1 43.7 92 1414 4) FiYl 5.5%
13 1688 528 102 19289 53.2 102 5.6%
5 182.3 334 142 20089 &2.1 142 5.6%
14 125.85 3B.67 255 150.23 43.77 205 5.6%
1941 134 18 4704 183 20.75 2352 5.6%
1942 154 22.25 G246 202 24.75 3123 5.6%
Total (95% Cly 12395 6466 100.0%

Heterogenelty: Tau® = 1.24; ChiF = 2164.40, df = 18 (P < 0.00001); F = 90X
Tast for overall effect: Z = 4.81 (P < 0.00001}

CONVERSION

Classical Meta-Analysis

Fixed and Random Effects

-§.11 [-D.44, -6.77]
-2.33 [-3.50, -1.15]
-5.44 [-6.32, —4.58]
7.30 [6.45, B.15]
=5.31 [-6.07, -4.55]
-1.04 [-1.71, —0.38]
-1.50 [-2.47, -1.33]
0.44 [H0.04, 0.92]
=1.97 [-2.43, -1.51]
=1.62 [-2.05, -1.18]
-0.23 [-0.65, 0.19]
=0.66 [-1.03, -0.30]
=0.13 [-0.48, 0.22]
1.06 [0.72, 1.39]
-0.45 [0.73, -0.17]
-0.37 [-0.61, -0.14]
—-0.59 [-0.78, —0.41]
-2.58 [-2.65, -2.52]
-2.08 [-2.13, -2.02]

-1.27 [-1.79, -0.75]

Q

df p

Omnibus test of Model Coefficients
Test of Residual Heterogeneity

12.012
1308.755 20 <.001

1 <.001

Note. p -values are approximate.

Note. The model was estimated using Restricted ML method.

Coefficients

Estimate Standard Error z p

intercept ~ 3.030 0.874 3.466 <.001

Note. Wald test.

Residual Heterogeneity Estimates

Estimate
T2 15.102
T 3.886
I? (%) 99.983
H? 5768.951

Rank correlation test for Funnel plot asymmetry

Kendall's t p

Rank test -0.029

0.882

-

-

-

5 )

Laparoscopic Robotic




Regression test for Funnel plot asymmetry (""Egger's test')

15

z P
sei 2.733 0.006
Plot
Funnel Plot
0 .
0.5 +
§ .
0 .
2
S
c 1 -
©
e
m ®
1.5 - o . e
': | I :' | |
0 5 10
Effect Size
PET-PEESE

Model Tests



Test of Effect
t df p
PET -1.242 19 0.229

Test of Publication Bias
t df p
PET 4.164 19 <.001

Estimates

Mean Estimates (p)

95% Confidence Interval

Estimate Standard Error t df p Lower Upper
PET -0.076 0.061 -1.242 19 0.229 -0.196 0.044
PEESE  0.038 0.069 0.55519 0.585 -0.097 0.173

Robust Bayesian Meta-Analysis

Summary

Model Summary
Models P(M) P(M|data) Inclusion BF

Effect 18/36  0.500 0.533 1.140
Heterogeneity 18/36 0.500 1.000 1.503x10%123
Publication bias 32/36 0.500 0.977 41.566

Model Averaged Estimates

95% CI
Mean Median Lower Upper
Effect size () 0.358 0.000 -0.621 1.945
Heterogeneity (1) 3.295 3.207 2.213 4.850

Note. The estimates are summarized on the none scale (priors were specified on the none
scale).

Model Averaged Weights (o)

p -values interval 95% CI1
Lower Upper Mean Median Lower Upper
0.000 0.025 1.000 1.000 1.000 1.000
0.025 0.050 1.000 1.000 1.000 1.000
0.050 0.100 0.997 1.000 1.000 1.000

0.100 0.950 0.994 1.000 1.000 1.000



Model Averaged Weights (®)

p -values interval 95% CI1
Lower Upper Mean Median Lower Upper
0.950 0.975 0.994 1.000 1.000 1.000
0.975 1.000 0.994 1.000 1.000 1.000

Note. (Estimated publication weights omega correspond to one-sided p-values.)

Model Averaged PET-PEESE Estimates

95% CI
Mean Median Lower Upper
PET 2.039 2474 0.000 4.758

PEESE 0.683 0.000 0.000 3.008

OPERATION TIME

Classical Meta-Analysis

Fixed and Random Effects

Q df p
Omnibus test of Model Coefficients 3.770 1 0.052
Test of Residual Heterogeneity 2164.395 18 <.001

Note. p -values are approximate.
Note. The model was estimated using Restricted ML method.

Coefficients
95% Confidence Interval
Estimate Standard Error z p Lower Upper
intercept  -1.353 0.697 -1.942 0.052 -2.719 0.013

Note. Wald test.

Residual Heterogeneity Estimates
95% Confidence Interval

Estimate Lower Upper
(s 9.127 5.190 20.562
T 3.021 2.278 4.535
(%) 99.886 99.799 99.949

H? 875.627  498.376 1971.493




Rank correlation test for Funnel plot asymmetry
Kendall's t p
Rank test -0.310 0.068

Regression test for Funnel plot asymmetry ("Egger's test')

z p

sel -1.423 0.155

Plot

Funnel Plot
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Model Tests

Test of Effect
t df p
PET -9.492 17 <.001

Test of Publication Bias
t df p
PET 2.160 17 0.045

Estimates

Mean Estimates (p)

95% Confidence Interval

Estimate Standard Error t df p Lower Upper

PET -2.333 0.246 -9.492 17 <.001 -2.815 -1.851
PEESE -2.044 0.219 -9.341 17 <.001 -2.473 -1.615
Robust Bayesian Meta-Analysis
Summary
Model Summary

Models P(M) P(M|data) Inclusion BF
Effect 18/36  0.500 0.483 0.935
Heterogeneity 18/36 0.500 1.000 00
Publication bias 32/36  0.500 0.826 4.731
Model Averaged Estimates

95% CI
Mean Median Lower Upper

Effect size () -0.191 0.000 -1.580 0.916
Heterogeneity (1) 3.046 2.976 2.163 4.357

Note. The estimates are summarized on the none scale (priors were specified on the none

scale).

Model Averaged Weights (o)

p -values interval 95% CI1
Lower Upper Mean Median Lower Upper
0.000 0.025 1.000 1.000 1.000 1.000
0.025 0.050 0.997 1.000 1.000 1.000
0.050 0.100 0.856 1.000 0.304 1.000



Model Averaged Weights (®)

p -values interval 95% CI1
Lower Upper Mean Median Lower Upper
0.100 0.950 0.727 1.000 0.136 1.000
0.950 0.975 0.729 1.000 0.136 1.000
0.975 1.000 0.731 1.000 0.136 1.000

Note. (Estimated publication weights omega correspond to one-sided p-values.)

Model Averaged PET-PEESE Estimates
95% CI

Mean Median Lower Upper

PET 0.347 0.000 0.000 4.556

PEESE 2410 0.000 0.000 14.579
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